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Whether large utensils - 299173 2%90 TN

Overview

The X723 cites a mwn that the 2109 of o°2Ww o°n for a Mpn applies to all 2°2> which
contain water, whether they are large or small. N1901n explains why should large or
small 2°22 be different than ‘regular’ sized o°92.

mooIn explains that °9173 0°95 are those 2°95 -
- AND DOYAIN YY DN 1Y XY 295 112 ANMIV 05271 1N 19N 29Y

That because if their large size they are not 782w apn; for instance wooden
vessels that are larger than forty IR0 -

- MAIRY 9790 591 199N 1179 KN 09510V 1INV
So they cannot be moved ‘full or empty’, nevertheless the water which they

contain is considered 2928w o°» -
= (3,1 97PN M2V YN 7992 1Y 91199199 (3 nawn 2 pr9) DD NIDNA )INTI DNVP DY TNNY

And the novelty in ‘whether they are small vessels’, is like we learnt in noo»

2v> and it is cited in N1>YY R PAD -
- 2299127010 NYY 1AW DAYINST JIIMIDIPI 10 DN S99 PPTH

‘The thin o217 ¥»3, whether it is the vessels themselves, or their bottoms or their

walls, if they can rest without support, they are considered 0°93 provided that their -
09NNV ¥571 ¥ YN NG 13 *Jop NP0 7o JNYY

Size is not less than the amount needed for the of smearing a small child,
provided that initially the vessel was up to the size of a 3%, and then they can be

RMY %2pn, however smaller than jop n>°0 >72, they are 23717, but nevertheless the
water in them is considered 2°21RW 7.

Summary
o°2 that are either too large or too small to be xmwv 73pn are nevertheless

considered 0°93 in regards to 2°21RW 7.

"The 7N (in 29,8 [rw] X7p*) writes regarding yw nimw that, 73 IR 733 IR YV °72 290 X anha ogn Yy 98 YK 99)
"3 P X%, The X773 in 2,19 7330 derives from the comparison of y¥ 23 to pw (a sack) that just as a sack can be moved
around whether it is full or empty (17> X1 Subun), similarly a y¥ *23 is Xnwn only if it is 3271 X791 H070n, however if it is
a M2 Wwyn vy o3 (it is set at rest and not meant to be moved [which is understood to mean a yv *73 which contains the
volume of forty nX0]), it cannot be nxm W 22pn.[Clarification is needed why n190In writes %0 % 2¥ @%n.]

* However if they need support in order to rest, they are no longer considered 2°23 and are 2> .

3 The o711 *25 whether it is whole or broken must be able to contain enough oil to allow for the smearing of a young
child

* The original vessel of these broken shards was no larger than a %. If the original vessel was larger than a 3%, then
the shards must contain at least a 21777 nv>21.
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Thinking it over

1. Once the mwn stated that even 121 °32X *95 (which are not X 92apn) render
their waters as 0°21XW 0°1, why was it necessary to mention 0°10p 2°721 02173 0°72?

2. Why in general would we think that something which is not X2 2pn cannot
render the water in them as D°2WRw 2°1?

3. Does mpoin dispute 1R 772 °"wA?
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